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Multiplikation - vertikal

L 0se jede Aufgabe.

1) 4.067

5  6.032

9 8.765

13)  4.004

1)  2.370
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Multiplikation - vertikal Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
1 2 3 4
) 4.067 ) 6.660 ) 2.382 ) 3.117 . 20335
. 5 . 3 . 9 . 2
20.335 19.980 21.438 6.234 , 19.980
3 21.438
4 6.234
5 6 7 8
) 6.032 ) 9.942 ) 3.760 )  5.328 s 48.256
. 8 . 4 . 4 o 5
48.256 39.768 15.040 26.640 6. 39.768
- 15.040
s  26.640
9 10 11 12
) 8.765 ) 3.016 )  5.152 ) 6.214 . 43825
. 5 . 2 . 9 . 9
43.825 6.032 46.368 55.926 0. 6.032
11 46.368
1o 55.926
13 14 15 16
) 4.004 ) 9.719 ) 7.435 ) 9.371 » 36036
° 9 (] 4 b 7 ® 9
36.036 38.876 52.045 84.339 s 38.876
s 52.045
6 84.339
17 18 19 20
) 2.370 ) 3.632 ) 2.027 ) 1.942 7 16.590
° 7 ° 2 ° 2 ° 2
16.590 7.264 4.054 3.884 s 1.264
9. 4.054
0. 3.884
1-10 195(90(85|80| 7570|6560 |55 |50
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